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Model Question
Economics
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The candidates are required o give their answers in their own words as far as practicable. The
Jigures in the margin indicate full marks.
w (Time): 3 Hrs. e (Full Marks): 75
T 3 R (Attempt All Questions)
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Wit any two advantages of division of abou:
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A seller eams Rs. 700 from the sale of 10 s of a good. If she sells I more i, hevhis
ttal revennebecones Rs 750, thenfd margnl tevenne by ing ol
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‘What is the policy applied by central bank to control the money sumﬂy and credit called?
ey fafo 72 ¢ ofvadefia A 2 A 3 G e G | Wite any one
difference between fixed exchange rate and flexible exchange rate.
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‘What s *structural umemployment'?
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When did Nepal become the member of WIO 2
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Write d two pol 4 ‘population below poverty ling
inthe cuneat lan f Nepl
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There s gender inequality in you community. More prioriety is given to boys as
compated o gits b at home 1 i sehool. T s rgad, ate amy o rces i you
can play 1o achieve the goal of gender equality in education by 2030 in Nepal ?
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‘Write any twopre-requistes of primary data collection.
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‘The sources of primary data collection are book, newspaper, tadio, etc. But thete are
various problems in data collection from such sources. In this regard, point out any two
problemns while using the data from secondary sources.
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I the differece and sum of st quatile (@) and third quartle () are 45 and 75
respectively. Find the coeflicient of quartile-deviation and inerpret
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tion of resources 2 three major
issues that may arise while allocating resourees. 243
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Do e Uncertainty Bearing Theory of Proft. Pint-out fs" any four weaknesses
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Draw AC and MC curves fiom the completed able
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*A monopoly firm can sell as many goods as it wants to sell by decreasing prices’. Based
on this information, prepare a table showing the firm’s total revenue, average revenue
and marginal reventie. Draw the curves of average reventie and marginal revenue based

on the table. 342
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Define Money Market and describe any four features of i. 1+4

fr ua faee awd s s S v 2w s, wis e
e A wfega awe W e | A yrenard & T B atg FurEE

T |

Curmently, increasing economic inequality situation in Nepal las adversely affected the social,
political and whole economic sectors of the country. Suggest any five pracical measuxes o
seduce this situation.
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epal has & long istry of fomsion and imlementaton of dvclopment pla. But
there is no sufficient development. In this tegard, suggest the steps to fommlate an
effetive development plan i Nepl.
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Find Price Index using Laspeyre’s formula and interpret the result 441
g 7 (Base year) S (Current year)
(Types of goods) | - - T N
o (Price) | s (Qualiity) | 7% (Biice) | e (Quantity)
< (Rice) 70 15 80 0
31 (Flour) 40 s s 7
- (Potato) 30 10 35 12
200 7 250 5
w (Mnlk) 30 5 35 4
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Ilustrate the per b
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'
The Comparative Advantage theory of intemational trade is relatedto the need of
intemational tr ty country imports the goods if their cost of production is high in
the country. Explain witha suitable example.
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Foreign employment is a way to solve the unemployment problem for developing countries like
Nepal. However, from this, such comtres will have to fice various probl
explain points for each.
stator
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